BID TABULATIONS

Contract No:DH00559

WBS No:2024CPT.08.15.20532

County:Lee Asphalt Surface Treatment

Bid Opening Date: 5/14/2024 at 2:00 PM

			S T WOOTEN CORPORATION		CORPORATION	WAUGH ASPHALT INC		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	
1	MOBILIZATION	1.00	LS	\$57,500.00	\$57,500.00	\$48,900.00	\$48,900.00	
2	SHOULDER RECONSTRUCTION	1.16	SMI	\$6,825.00 \$7,917.00		\$8,625.00	\$10,005.00	
3	AGGREGATE SHOULDER BORROW	165.00	TON	\$28.00 \$4,620.00		\$52.00	\$8,580.00	
4	INTERMEDIATE COURSE, I19.0C	1,280.00	TONS	\$65.50	\$83,840.00	\$113.44	\$145,203.20	
5	ASPHALT BINDER FOR PLANT MIX	92.00	TONS	\$500.00	\$46,000.00	\$400.00	\$36,800.00	
6	PATCHING EXISTING PAVEMENT	630.00	TONS	\$355.00	\$223,650.00	\$267.39	\$168,455.70	
7	ASPHALT SURFACE TREATMENT, DOUBLE SEAL	75,313.00	SY	\$1.20	\$90,375.60	\$1.17	\$88,116.21	
8	EMULSION FOR ASPHALT SURFACE TREATMENT	41,423.00	GAL	\$2.85	\$2.85 \$118,055.55		\$89,059.45	
9	VACUUM TRUCK	4.00	WKS	\$1.00	\$4.00	\$1,000.00	\$4,000.00	
10	GENERIC PAVING ITEM - LATEX MODIFIED MICROSURFACING, TYPE II	85,794.00	SY	\$3.52	\$301,994.88	\$4.00	\$343,176.00	
11	WORK ZONE ADVANCE/GENERAL WARNING SIGNING	1,253.00	SF	\$7.50	\$9,397.50	\$7.00	\$8,771.00	
12	TEMPORARY TRAFFIC CONTROL	1.00	LS	\$91,481.12	\$91,481.12	\$99,100.00	\$99,100.00	

				S T WOOTEN CORPORATION		WAUGH ASPHALT INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
13	THERMOPLASTIC PAVEMENT MARKINGLINES (6", 90 MILS)	28,665.00	LF	\$0.95	\$27,231.75	\$0.95	\$27,231.75
14	THERMOPLASTIC PAVEMENT MARKINGLINES (8", 90 MILS)	250.00	LF	\$2.50	\$625.00	\$2.50	\$625.00
15	THERMOPLASTIC PAVEMENT MARKINGLINES (24", 90 MILS)	480.00	LF	\$11.00	\$5,280.00	\$11.00	\$5,280.00
16	THERMOPLASTIC PAVEMENT MARKINGCHARACTER (90 MILS)	12.00	EA	\$95.00	\$1,140.00	\$95.00	\$1,140.00
17	THERMOPLASTIC PAVEMENT MARKINGSYMBOL (90 MILS)	21.00	EA	\$150.00	\$3,150.00	\$150.00	\$3,150.00
18	PAINT PAVEMENT MARKING LINES (6")	401,328.00	LF	\$0.15	\$60,199.20	\$0.15	\$60,199.20
19	REMOVAL OF PAVEMENT MARKING LINES (4")	101,002.00	LF	\$0.20	\$20,200.40	\$0.20	\$20,200.40
20	REMOVAL OF PAVEMENT MARKING LINES (8")	250.00	LF	\$2.00	\$500.00	\$2.00	\$500.00
21	REMOVAL OF PAVEMENT MARKING LINES (24")	480.00	LF	\$3.00	\$1,440.00	\$3.00	\$1,440.00
22	REMOVAL OF PAVEMENT MARKING SYMBOLS & CHARACTERS	33.00	EA	\$50.00	\$1,650.00	\$50.00	\$1,650.00
23	NON-CAST IRON SNOWPLOWABLES PAVEMENT MARKER	130.00	EA	\$77.00	\$10,010.00	\$77.00	\$10,010.00
\$1,166,262.00					\$1,181,592,91		

\$1,166,262.00

\$1,181,592.91

Bidder No. 1: S T WOOTEN CORPORATION Bidder No. 2: WAUGH ASPHALT INC Bidder No. 3: SLURRY PAVERS INC

BID TABULATIONS

Contract No:DH00559 WBS No:2024CPT.08.15.20532

County:Lee Asphalt Surface Treatment

Bid Opening Date: 5/14/2024 at 2:00 PM

				SLURRY PAVERS INC		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	
1	MOBILIZATION	1.00	LS	\$61,000.00	\$61,000.00	
2	SHOULDER RECONSTRUCTION	1.16	SMI	\$8,100.00	\$9,396.00	
3	AGGREGATE SHOULDER BORROW	165.00 TON		\$73.00	\$12,045.00	
4	INTERMEDIATE COURSE, I19.0C	1,280.00	TONS	\$110.00	\$140,800.00	
5	ASPHALT BINDER FOR PLANT MIX	92.00	TONS	\$660.00	\$60,720.00	
6	PATCHING EXISTING PAVEMENT	630.00	TONS	\$196.00	\$123,480.00	
7	ASPHALT SURFACE TREATMENT, DOUBLE SEAL	75,313.00	SY	\$2.10	\$158,157.30	
8	EMULSION FOR ASPHALT SURFACE TREATMENT	41,423.00	GAL	\$2.42	\$100,243.66	
9	VACUUM TRUCK	4.00	WKS	\$1,500.00	\$6,000.00	
10	GENERIC PAVING ITEM - LATEX MODIFIED MICROSURFACING, TYPE II	85,794.00	SY	\$3.75	\$321,727.50	
11	WORK ZONE ADVANCE/GENERAL WARNING SIGNING	1,253.00	SF	\$7.50	\$9,397.50	
12	TEMPORARY TRAFFIC CONTROL	1.00	LS	\$49,500.00	\$49,500.00	

				SLURRY PAVERS INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID
13	THERMOPLASTIC PAVEMENT MARKINGLINES (6", 90 MILS)	28,665.00	LF	\$1.06	\$30,384.90
14	THERMOPLASTIC PAVEMENT MARKINGLINES (8", 90 MILS)	250.00	LF	\$2.75	\$687.50
15	THERMOPLASTIC PAVEMENT MARKINGLINES (24", 90 MILS)	480.00	LF	\$12.40	\$5,952.00
16	THERMOPLASTIC PAVEMENT MARKINGCHARACTER (90 MILS)	12.00	EA	\$104.00	\$1,248.00
17	THERMOPLASTIC PAVEMENT MARKINGSYMBOL (90 MILS)	21.00	EA	\$165.00	\$3,465.00
18	PAINT PAVEMENT MARKING LINES (6")	401,328.00	LF	\$0.17	\$68,225.76
19	REMOVAL OF PAVEMENT MARKING LINES (4")	101,002.00	LF	\$0.26	\$26,260.52
20	REMOVAL OF PAVEMENT MARKING LINES (8")	250.00	LF	\$2.20	\$550.00
21	REMOVAL OF PAVEMENT MARKING LINES (24")	480.00	LF	\$3.30	\$1,584.00
22	REMOVAL OF PAVEMENT MARKING SYMBOLS & CHARACTERS	33.00	EA	\$55.00	\$1,815.00
23	NON-CAST IRON SNOWPLOWABLES PAVEMENT MARKER	130.00	EA	\$85.00	\$11,050.00

\$1,203,689.64

Bidder No. 1: S T WOOTEN CORPORATION Bidder No. 2: WAUGH ASPHALT INC Bidder No. 3: SLURRY PAVERS INC